EANRAROBREIEHRT — 2 N—XBISYH —F 201311898 (+) 5E%E=3A

B =x#cms G2 ¥5%om @R Gsn) BE (w8 [emm — |2 o0 o s
[A&4] 1 7 36,000,000 § ~ 2 3% :14,000,000 § . 3 7 :9,000,000 @ . 4 7 :5,400,000 @ . 5 7& : 3,600,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S T HiDaE :23. - . . ERAE (EH)
gl po5LvTok o2 o3 1(2_3)1 2-2 34.0| 95.2 | 5 zzg? Lidihd
R:TLYFFELT Bi¥avIATC 48— BEZZY K
7 S 2 | BEMZ 1:23.2 3-3 33.9| 9%4.2 | 6 486 | BHFME (ER)
2057 | 7AXAN) T v > E 55.0 (1/2) Cra) | B0 74=2%- 527
RIZNRY w4 =7 BNZRT— b ok
- N 1BKI— : = E+RBE (BH)
3 6 STY—TS5%y b 4 2 52?0 1(/%3;_)2 3-3 34.0 | 94.1 2 (4;2) EEEE?E
L BATATv— BFoNbTq—H HET7—L
T . o2 | HEEAH 1:23.3 1-1 3450915 | 9 444 | RFNERL (i)
4 10| T RIVT 4 TN 5.0 1/2) © | B ¥ITLy 575747
R:F1X¥T7TF1714 6 B:L—E-XT7)—> NIERNTT— L
N . 4 2 | IHRS 1:23.5 5-5 33.8| 91.1 8 444 | BEHRK (ERH)
57|12 h—E>>T vy b 54.0 (1 1/4) +2) Bl
Rib—tr 42X Bih—trELyg HEEH IXF1T7—LA
4 2 | R. LA=7 1:23.5 11-11 33.1| 91.7 | 1 494 | SHBGL (RR)
6l5/g| E—YX 55.0 (7E) (-g) | EEAE
R:ZoY—>E—O— FB:AYOTIFILIR I ¢
-z i o2 | BEGSE 1:23.5 7-8 33.3| 91.5 | 3 498 | KTTIEE (%)
701]1|VI=X4L 55.0 (745%) (g | (A) HAL-2K-Z
:¥>r/0704 B:LIXCPR () HEI-RL—-2a>AET 7
9 o 42 | BEAIEM 1:23.7 6-6 33.8| 8.9 | 4 492 | EHKL (EH)
EH 9| 7RORZ-X 55.0 a1/8) ) |ZEAYITLY KI5T
R:7ROAFXLTEL B:NF/AYIHYR AiE R
S 4 2 | BEES 1:23.8 7-6 33.8| 87.9 | 13 | 470 |SEEM (RR)
9/8/14 TRIIAY 55.0 (1/2) (-4) i
L:ANXZATINGT B:a14xov1M4> 1] S S
= N N AisiE 124, - . . AR (Ei#)
10 o | FAT LR o2 e 1 (251)3 14-13 [ 33.6| 82.7 | 10 ?(1”2 ang
R:Tw IRy y b BiATONILER L9545 77— 1
. e HHE 124. - . . AARFES (ER
» 3|OXHHRT 217 o2 s (11214/:)) 11-12 | 34.0] 80.2 | 11 <4+920) Al
% :Fusaichi Pegasus B:¥+v>—ZX57 Dr. Masatake |ida
- FEH : - E+REBE (FH)
1 4| 7T LFaya- o2 e 1(7211:;5 9-8 34.2| 80.1 | 7 (gg) ﬁ@%m
LTAILFNRTA— BTAILT)REZIL 71 ILYS
P, A 2 | REEE 1:24.7 11-13 34.0| 78.0 | 14 444 | MAKEEF) (EA)
1300 5| F1EVE13 * 55.0 " -8) ZY-R5-ZL-L1
LT RIA Y L—>2 B:EOYD2 BEH Hi
— : 2 | HEBE 1:25.5 9-8 35.3| 69.3 | 12 | 502 |=fEE (EA#)
14\ z|11| 77Ty & "2 5 = et
iy AdyR B:T7AURELT MEHRS
@ 21 L
£y 46.4-34.3
NA>Z2A L | 12.8-11.8-12.1-12.1-11.5-11.0-11.8
® I—F—@EBIERL
13—7-
23—7F—
== 10,13(6,7)-12,9(1,14) (4,11) (3,5,8)2
AISI=F = 10-13(6,7)-12(9,14) (1,4,11)8,3(5,2)
[ RN
B Op 13 1,570 794K 7-13 1,850M & 5-8 920M &R 6-7-13 9,800M
# B 13 420M 6-13 1,010 B E 7= 7,110 EE 13-7-6 97,470
7 410/ 6-7 1,040H B H 13-7 16,910
6 210M

ABICOVWTRDTEEERROODE. TR LIV,




